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Note: you have four choices for each objective type question as A, B, C and D. The choice _qﬁd"ﬂguv
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 | A A
(1) Real partof 2ab(i + i*) is: il 285 2ab(i + i) /J&/ 1)
(A) —2ab (B) 2abi (C) 2ab (D) —2abi
(2) The value of log( P J is: = =4 log£ 3] (2)
q log p q
(A) log p —logg B) Togq (C) logp + loggq (D) logg — log p
(3) log, x will be equal to: b Gusls log, x  (3)
1
A log, x B) log, z ©) log, x ) 0g, Y
log, z log, z log, y log, x .
(4) The degree of polynomial 4x*+ 2%y is: e 208 4xt+ 2x%y -4 (4)
(A) 1 By 2 (C) 3 (D) 4
(5) Factors of 3x* - x — 2are; oy L}/ﬁ,izt[, 3x*—x — 2 (5)
(A) (x +1),(3x - 2) (B) (x +1),(3x +2)
©) (x = 1), (3x — 2) (D) (x-1), (3x+2) |
(6) HCF of a*~b* and @b’ s - Ao @’ =5 a’-b*  (6)
(A) a-—b B) a+b (©) a>+ab+b* (D) a—ab+ b’
T 1 s a 1
(7) Simpli e = i ASIK. + Az (7)
fy9a2—b2+3a-b - - 9a*-b> 3a-b
4a 4a - b 4ad'+ b b
A) —5——s B) —5— C) —5—— D) —5—3
® = ®) 5w Y =45 O 575
(8) If x isnolargerthan 10, then “Ins$%e 10 b x Ji (8)
(A) x=8 (B) x <10 (C) x<10 (D) x> 10
(9) Point (-3, —3) lies in quadrant. e LOLH(-3,-3) F 9
(A) 1 By I (C) I ) (D) 1V
(10) Distance between the points (1, 0) and (0, 1) is: e Jolidlent (0, 1) (1, 0)s  (10)
(A) O B) 1 ©) V2 (D) 2

(11) One angle on the base of an isosceles ?%E'clﬂ(,(é-}‘]dfjéJ' - 30° ,;liufl{;ﬁGng-jgwdylﬁ (1

friangle is 30°. What is the measure of its vertical angle?

(A) 30° (B) 60° ) (C) 990 (D) 120°
(12) congruent triangles can be -u}&%é&u&tﬂf" LL&:@@&?LCM&%;@ (12)
made by joining the mid-points of the sides of a triangle. )
(A) Three % (B) Four Jb (C)Five &l (D) Two 3
2 1. * B 2 .
(13) Productof [x ] 1 }15: il [ y]li I]J”M}/’ (13)
A [2x+y] ®) [2x-»] ©[x-2v] ©[x+2y]
. 12 6 s
(14) If i 0 0 .then ‘'x' isequalto: iz ‘X' I =0 /I (19
x %
(A) 9 (B) 6 (C) -6 (D) -9
(15) The conjugate of 5+ 4i is: < oS 544 (15)
(A) =5+ 4i (B) 5—-4i (C) -5 -4 (D) 5+ 4i
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TIME ALLOWED: 2.10 Hours SUBJECTIVE _Ui.» 210 = &
MAXIMUM MARKS: 60 Myu-61-2 60 = A

NOTE:

Write same question number

e bne g IR L I Gay S

and its part number on answer book, as given in the question paper.
SECTION-l ()i..o

2. Attempt any six parts.

(viii)

(ix)

(i)

(i)
(i)
(iv)

(vi)
(vii)

(viii)

-2 6

Find the multiplicative inverse of ¢ = _—

-4 4

5
Multiply the given matrices | 8 9 2 ==
6 4 ;

Evaluate (—i)®

E e ling 3 24y
=[ i _ } éfﬁfuﬁd/ww;cﬂ (i)
{ *”—} -é{:"’d’bd/‘ﬁf}@})

12=2x6

(ii)

(=) -geP=d (i)

ot lOn 8m P ;

Simplify /25x10n y8m 25x ._Z:/‘; (iv)

Find the value of X  from log, 64 = 2 log, 64 = 2 -”ér}”o»f(f x ALits W)

Calculate logs 3 x log, 25 logs 3 x log; 25 -&Ep#ed  (vi)

Find the conjugate of x + [y 7 - /6 7-6 -Eruilfneditl S x vy i)

2,355
Reduce into lowest form @x}y_zz M-zﬂ]yu*fu// (viii)
30x"yz 30xy 2?2

Factorize 12x* — 36x + 27 12x% - 36x + 27 -c{dy‘ (ix)
3. Attempt any six parts. 12=2x6 -éf/i_,UiLiific_d/ -3/Jlr

Find the H.C.F of the expression 102xy%z, 8542z, 187xyz* G0

Solve the equation 2x — ~x = x + = 2oLy i Loy penSene G

3 2 6 3 2 6

Solvefor x |2x+5|=11 12x + 5| =11 g/ fen- (i)

Verify whether the point (0, 0) lie on the line -uf‘;Lg.éb/? 2x Ly #1=0 v (0, 0) ﬁf.éh}:*‘; (iv)

2x -y +1=0 ornot.

Draw the graph y =7 y=17 _é;‘k@_ﬂf&wu (v)

Find the distance between the pairs of points 4(9,2), B(7,2) -q/(#’:bﬁulﬁ;&u,}ﬁ (vi)

Define square. .,q/_.é/ﬂf d/ (vii)

Find the value of unknown for the given congruent triangle: e x s m e o (i)

Sum of the opposite angles of the -q/(}*om{vgﬁcu:ugm < 1104 Ui denl Lonigine  (ix)

parallelogramis 110°.

C&13s)

Find the remaining angles.

dm+n
55

8m~4n




4. Attempt any six parts. MInN-91-21 1 2 2 X6 ' -é/ /VLVLVM:,G[ Ay
() f ALMO = ALNO thenfind x and m Ep# m 4 ¥ Ix ALMO = ALNO A0

M=% 7 )
13cm, 12cm, Scm ‘4_t,f{¢,gu¢/é§_/u/guy UJLM”LJJZJMJ,LUfUdfd:JCMLJ (ii)
(i)  Verify that difference of given measures of any two sides of a triangle is less than
the measure of the third side.  13cm, 12¢m, Scm
(i)  Define congruent triangles. EaASutbde i)

L banbbel i d Led /a7 X 8 LAl el ()
(iv)  Three sides of a triangle are of measures 8, x and 17 respectively.
For what value of * will it become base of a right-angled triangle?

(v) Find 'x' inthe given figure : -{,:((:L” I <1 U ()
Secii 10cm
(v  Define Altitude or height of a triangle. * -é“:/h_é!/UCLﬁ/le (vi)
(vii)  Find the area of a given figure: A e -g{(}”g’ﬂféﬂ@ (vii)
4 cm /
-,
(vii) Construct AXYZ msY =90°, mZX = 6.4cm, mVZ =2.4cm L Xyz &b (vii)
(i)  Define Orthocentre. ESPAT
SECTION-II
24=8x3 T b 9 w & fep L g 2

NOTE: Attempt any three questions. Question No:9'is compulsory.

.. gl 2% 35 __31 _40 ;o
(DAY = 47D SEG A D_[_z 2]‘ A~[_1 2] A ()5

4 0 L
S(A) If A=[ },D:[ 3 ; then verify that (DA4)™'=47'D™

-1 2
(B) Use laws of exponent to simplify. (2431[(___(_;%) -é/fﬂs.?wc,um;ww (&)
(196

6.(A) Find the value by logarithm. (438)° ¥0.056 | (438)° 0.056 i(}”viaud/(‘{@ ().6
(388)* (388)*

1 ) .
(B) If g=+/5+2 thenfind i+ — _“épl”q +—1—2- wmog=V5+2 0 ()
q q

7(A) Factorize a*+ 3a%b® + 4b* 2+ 302t + bt -6 (DT
4 _ _ 4 _ _ o
8x g 22x | " J§+3 X 8x « 2x -1 y )§+3 '..é/} (v)
2x24+5x -3 x*+2x+4 x"-2%x 2124+ 5x—-3 x*+2x+4 xT-2x

8.(A) Solve the equation — = =2 — 2 x 2 X ol B a0 SEfene ()8
' 3x -6 x—2 3x -6 x—2

(B) Simplify

(B) Construct the triangle 4BC and draw St Ll St ABC & ()
the perpendicular bisectors of its sides. mAB =5.3cm, mZA=45°, msB=30°
9. Prove that: Any point on the -K)’JJUJUJVLU}/‘LJ:);EMMJ)’d')/uftdl)féb)b’k)/ S i J’qub -9
tight bisector of a line segment is equidistant from its end points.
OR |
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Note: you have four choices for each objective type question as A, B, C and D. The choice -u:):nf?;aulf
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen

to fill the bubbles. Cutting or filling two or more bubbles wi

Il result in zero mark in that question. No credit will be

awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER. D

Q.No.1 A Ay

(1) The square rootof a*—2a +1 is: z Gluigf a*=2a+1 (1)
(A) £(a+1) (B) t(a-1) (€) a-1 (D) a+1

(2) If x isno larger than 10, then: ey 10 u’:u( X )7 (2)
(A) x=8 (B) x<10 (C) x <10 (D) x>10

(3) Point (2, —3) lies in quadrant: -c‘_uﬁéjﬁdﬂf (2,-3) b (3)
(A) I (B) I (C) 1m O) 1V

(4) Distance between points (0, 0) and (1, 1)is -‘L____JJGU_L{J}[— (1, 1) » (0, 0) b (4)
(A) 0 (B)4 (€) 2 (D) V2

(5) The right bisectors of the three sides of a triangle are: gl AWl (5)

(A) Congruent JU (B) Collinedr) (%

(C) Concurrent i (D) Parallel {ii#

(6) The diagonals of a parallelogram each other. _ugz"_/ ______d/z,/»ughﬁbtwlwl? (6)
(A) Bisect it (B) Trisect &4 (C) Bisect at right angle _<6sf (D) Do not cross v

(7) Theorder of matrix [2 1] is: e 22 1] O
(A) 2-by-1 (B) 1-by-2 (C)A-by-1 (D) 2-by-2

8) If \:2 6]=O then x s equalto: e s x ¥ '[2 6]=0 S (8)
3 x ; 3 x
(A) 9 (B) -6 (C) 6 (D) —9

(9) Write 1/x in exponential form: ; ] -4‘&:(/@3/ Ux (9)
(A) x (B) ¥ © * (D) %2

(10) In 3/35 the radicand is ekt 335 (10)
(A) 3 | B) —1§ (C) 35 (D) 2 /

(11) The relation y = log, x implies _____. B y=log,x S (1)
(A) =z (B) z'=x ) x*=y D) y'=x

(12) logp —logg = logp—logg=____ (12)
(A) 1og(1} (B) log(p — ¢) gy oL (©) 10%(3]

P logg q

(13) (\/}; + b )(\/E - JZ) is equal to: -l (JE + J[})(JE - \/Z) (13)
(A) a®+ b’ (B) a*- b’ (C) a-b (D) a+b

(14) Factors of 3x” - x — 2 are: Ut YAy 3xl-x-2 (14)
(A) (x+1),(3x=2) @) (x+1),(3x+2)
©) (x=1),(3x-2) D) (x—1), (3% +2)

(15) H.C.Fof 5x*y?and 20x°)° is: e /"'M 2030 4 SxEyPuM o (15)
(A) 5x%y° (B) 20x*y° (C) 100x°y° (D) Sxy

A AL
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D —




SSC PART-I (9th CLASS)
MATHEMATICS (SCIENCE GROUP) GROUP-II s - w/ (w/ S FL
TIME ALLOWED: 2.10 Hours SUBJECTIVE _&i» 2210 = =
MAXIMUM MARKS: 60 MIN-62.2) 60 = A

NOTE: Write same question number -c,Z,»u“z_/Jiyfié C,/:/:J»V‘J!rgﬁ;/dwli Y
and its part number on answer book, as given in the question paper.

SECTION-I s.»

2. Attempt any six parts. 12=2x6 -égfa@lﬁél’]'gc,df 240
) 3 — . ” 3 4 -3 4 7
If["“ P e By, j gy |47 =| - J i
o | 6 - 6"2 Eeedd b o a o 6 b-1 6 2 W
thenfind a and 5 .
13 13
: = 2 4 :
(i) Find the multiplicative inverse of p=| 2 4 D= -ép“’uﬁ’g} /K,JL?J)@» (i)
1 2 12 .
iy~ Evaluate % . P20 e (i)
(v)  Simplify and write in the form of & + p; 2= D= BB arbi Ifes W)
3+ 3+
(%)  Findthe value of x from log, x =5 log,x =5 FEebedd x2St (v)
ra ] 1
. (22)3 .
) Write the following into sum or differerice log (vi)
(vii)  Find the conjugate of x + \/; 2 & \/5 2 + \/5 -g}#@u&(‘@m}g@»&rﬁx + \/; {vii)
(Wi~ Simplify (x2— 49). X+ 2 (x*-49). X2 L F i
x+7 x+7
(ix) ~ Factorize 3x — 243x° 3x — 243x° U4 (i)
3. Attempt any six parts. 12=2x6 -Zf//’uu;’ili'i;df 234
() Find the H.C.F by factorization X'+ 5x+ 6, XG5 12 AL 0
(i)  Solve the equation 3\/5;:74_ -2=0 342x -4 -2=0 Il (i)
(i)  Soivefor x, |**31_¢ Sl —ueneie i)
14X a2
(’,‘i}) Determine the quadrant of the coordinate plane in which -uggl:blaié_ﬂug;ufﬁgfwf?&ﬁd}ﬂbgbg (iv)
the following points lie; (h R(2,2) (i) S(2,-6)
(v)  Drawthe graph. y = 4x y = 4x -;{:J:@:Jl/&mt/ (v)
i)  Define Right Triangle. G Pl el it (vi)
(vii) * Find the mid-point of the line segment joining A(9,2), B(7, 2)-q/}k‘ﬁ&w(wﬁé.ué.uﬂ@»é;: (vii)
Wil) I AABC = ALMN then find " P 3 AABC = ALMN 1 (viii)
@ miM = _ mLM =
(b) muN = 9 3 msLN =
6‘)0
il 9 607
A 2 B L N
{ix)  Find the unknown values x°, y° m°and n° ..g[f(yb’/lﬁfd/ n® sl m® o y° o x° ’(J”L'J.'fé(d; (ix)
in the given figure C . . D
m° n°




A [ Adid "‘v

4. Attempt any six parts. 12=2x6 .z.igg /oW.Lmiag e -/

- -:&{()L”QQJ R EE QJ‘,&:"’(’)L”t -+J"W A AD J ABC &@CWUU;V(EMS) (M
\,L)/ AD is bisector of angle A for the given equilateral triangleABC ;
Find unknown values of x°, ) and z’.

.
. , e RN

B D '
(p  What will be the &ingle %z.u,,tmw&”}fv&wt rﬁﬁ@:{@g/ﬁa‘iGadbﬁabﬁé’:ga,ﬂdwﬁﬁuj (ii)
for shortest distance from an outside point to the line?

(i§) Define proportion. & /U./C (iii)
(v Find 'x' inthe given figure: ' -g‘;f(sb’ Lo’ uﬁféfd) (iv)
4cm e
i ‘IJcm B
() The measures of sides of a triangle are given. -a;..d;i)ldw:;«lﬁ‘fg; JuP -ugﬁ/d;ugwg! L leds V)
Verify that the triangle is right-angled. a=16cm, b= 30cm, ¢ =34cm
(vij Define Rectangular region. -“é/..ij /U};uﬁ)’y (vi)
wi) Find the area of given figure: _g,ipb@wﬁ&nd; (vii)
“iQem
16 cm
Qij  Construct A4BC in which mAB = 3c¢my mAC =3.2cm, mld = 45° Ge . ABC &de (vil)
(ix) Define circumcentre. -é& /U}’(:/ (ix)
SECTION-l (92 )
24=8x3 =G94 Jiy -g{;/awéwwfc.af Y

NOTE: Attempt any three questions. Question No.S is compulsory.
PRI S o IRE R

§ 4 0 . e
5,@' if As[_1 2}, B={~4 -2 | then verify that (AB)lzB‘Al

1 -1
n_ As 4n -1 o § oAy M
(B) Uselaws of exponent to simplify LW -é/’i’,mfd Blvesd ()
( n
6.8y Find the value by using log tables. (1.23) (0.6975) (1.23) (0.6975) -5(}”&2@»&/’%‘ (-6
(0.0075) (1278) (0.0075) (1278)
&I p=2+ J3 then find pz——% -é"}”pz——;}i;’ﬁ p=2+ NP
p
7(A) Factorize 25x—10x+1- 362> 252 — 10x + | — 362> _EGE (DT
6 3.3 6 -
(B) Use factorization to find Square root. 41207y + Y Pt ke JLsi ()
r ox’ + 24x2y" + 163" ‘
8.0y~ Solve the equation. L 2% x#2 kD X =3 2x -gf:/J’fd;v (-8
3x -6 x -2 3x -6 X =
¥y Construct AXYZ and draw its medians. -Jf‘; 4.w/:£u”»!ufﬂz axyz (&)

T = 43em, mLX =757, mLY = 45°
" Any point on the bisector of an angle is equidistant -ﬁ,mvww,v@us,;géu !,Lﬁvg/z,;dftéa,;ijgff .9
from its arms.
OR

-

N it o the right bisector of @ -@Jﬂwldﬁt»z,u;/ﬁJ:f;ﬁ)‘ﬁo:;’ﬁ@lgdf td:/[-bbb;(f( b j/’




